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data

0.751.001.251.501.752.002.252.502.75

5 0 5
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5.0
model
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5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 4429, dchi2frac= 1.0
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data
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2.5

0.0

2.5

5.0
model
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5.0
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5.0
residuals

0.0 0.2 0.4 0.6 0.8

Fiber 982, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data
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model
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5 0 5
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5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 2507, dchi2frac= 1.0
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data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.20.4

Fiber 284, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 4921, dchi2frac= 1.0
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5.0
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0.0
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5.0
data

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5
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2.5

5.0
model

0.51.01.52.02.53.03.54.04.5
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5.0

2.5

0.0

2.5

5.0
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2.0 1.5 1.0 0.50.0

Fiber 1019, dchi2frac= 1.0
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5.0
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data
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model
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0.40.30.20.10.00.10.2

Fiber 4194, dchi2frac= 1.0
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data

1.01.52.02.53.03.5

5 0 5
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model
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5 0 5
5.0
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2.5

5.0
residuals

5 4 3 2 1 0

Fiber 4477, dchi2frac= 1.0
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data
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5 0 5
5.0
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0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.20.00.20.40.60.81.01.2

Fiber 2775, dchi2frac= 1.0
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data
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5 0 5
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0.0

2.5

5.0
model
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5.0
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residuals

2.01.51.00.50.00.5

Fiber 2450, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.080.060.040.020.000.02

Fiber 2628, dchi2frac= 1.0
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data

2 3 4 5 6 7

5 0 5
5.0

2.5
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model
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5 0 5
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5.0
residuals

0.50.40.30.20.10.00.1

Fiber 2899, dchi2frac= 1.0
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5.0
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5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0
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0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2643, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0
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model
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0.200.150.100.050.000.050.10

Fiber 831, dchi2frac= 1.0
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data

0.51.01.52.02.53.03.54.0

5 0 5
5.0
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2.5

5.0
model

0.51.01.52.02.53.03.54.0
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5.0
residuals

0.150.100.050.000.05

Fiber 4911, dchi2frac= 1.0
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data

1.01.52.02.53.03.5

5 0 5
5.0
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2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0
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2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 4651, dchi2frac= 1.0
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data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.50.0 0.5 1.0 1.5

Fiber 948, dchi2frac= 1.0



5 0 5
5.0
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data
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model
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0.8 0.6 0.4 0.20.0

Fiber 824, dchi2frac= 1.0
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data
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5 0 5
5.0
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model
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Fiber 929, dchi2frac= 1.0
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data

1.52.02.53.03.54.0
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5.0
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5.0
model

1.52.02.53.03.54.0
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5.0
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5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2325, dchi2frac= 1.0
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data
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model
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0.2 0.10.0 0.1

Fiber 4506, dchi2frac= 1.0
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5.0
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0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0
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2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.21.00.80.60.40.20.00.2

Fiber 2269, dchi2frac= 1.0
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data
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5.0
model
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5.0
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5.0
residuals

0.00.10.20.30.40.5

Fiber 427, dchi2frac= 1.0



5 0 5
5.0
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0.0

2.5

5.0
data

0.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.0

5 0 5
5.0
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5.0
residuals

0.0500.0250.0000.0250.0500.0750.1000.125

Fiber 1124, dchi2frac= 1.0
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data

1.01.21.41.61.82.02.2
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model
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residuals

1.5 1.0 0.50.0

Fiber 4191, dchi2frac= 0.9
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data

1.01.52.02.53.03.54.04.55.0

5 0 5
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2.5
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5.0
model
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5.0
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5.0
residuals

0.80.60.40.20.00.2

Fiber 4695, dchi2frac= 1.0
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data
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2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
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2.5
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5.0
residuals

0.750.500.250.000.250.500.751.00

Fiber 2864, dchi2frac= 1.0
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5.0
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data

1.0 1.5 2.0 2.5 3.0

5 0 5
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5.0
model

1.0 1.5 2.0 2.5 3.0
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5.0

2.5
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residuals

0.60.50.40.30.20.10.00.1

Fiber 4681, dchi2frac= 1.0
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2.5
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data

1.01.52.02.53.03.54.0

5 0 5
5.0
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0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.40.20.00.20.40.6

Fiber 447, dchi2frac= 1.0
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5.0
data

1.01.52.02.53.03.54.0
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5.0
model

1.01.52.02.53.03.54.0

5 0 5
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2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 4317, dchi2frac= 1.0
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data
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model
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5.0
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0.60.50.40.30.20.10.0

Fiber 2141, dchi2frac= 1.0
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5.0
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2.5

5.0
data

1.0 1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.501.251.000.750.500.250.00

Fiber 2832, dchi2frac= 1.0
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data
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model

2 3 4 5 6 7 8 9
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residuals

1.00.80.60.40.20.0

Fiber 2961, dchi2frac= 1.0
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2.5
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data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.0

Fiber 1479, dchi2frac= 1.0
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2.5

5.0
data

0.6 0.8 1.0 1.2 1.4

5 0 5
5.0
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0.0

2.5

5.0
model

0.60.81.01.21.41.61.82.0
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2.5
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2.5

5.0
residuals

1.21.00.80.60.40.20.00.2

Fiber 4545, dchi2frac= 1.0
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data

1 2 3 4 5

5 0 5
5.0
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5.0
model

1.01.52.02.53.03.54.04.55.0
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2.5
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5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 4685, dchi2frac= 1.0
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2.5
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data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5
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2.5

5.0
model

1.01.52.02.53.03.54.04.5
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residuals

0.10.00.10.20.30.40.5

Fiber 954, dchi2frac= 1.0
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data
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model

1.01.52.02.53.03.5
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0.50.40.30.20.10.0

Fiber 4326, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.04.55.0

5 0 5
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model
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2.0 1.5 1.0 0.50.0

Fiber 4312, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data
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model
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1.501.251.000.750.500.250.00

Fiber 2538, dchi2frac= 1.0
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5.0
data

2 3 4 5

5 0 5
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model

1.52.02.53.03.54.0
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2 1 0 1 2

Fiber 2501, dchi2frac= 1.0



5 0 5
5.0
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0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0
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2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.5

Fiber 2138, dchi2frac= 1.0
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data
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model
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Fiber 4440, dchi2frac= 1.0
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model
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1.21.00.80.60.40.20.0

Fiber 2749, dchi2frac= 1.0
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data

1.01.52.02.53.03.5
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model

1.01.52.02.53.03.5
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Fiber 4691, dchi2frac= 1.0
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data
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model
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0.00.51.01.52.02.53.0

Fiber 4029, dchi2frac= 1.0
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data
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model
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0.00.51.01.52.02.53.0

Fiber 4517, dchi2frac= 1.0
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data
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model
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0.60.40.20.00.20.4

Fiber 2543, dchi2frac= 1.0
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model
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Fiber 4618, dchi2frac= 1.0
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data
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5.0

2.5

0.0

2.5

5.0
model
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Fiber 975, dchi2frac= 1.0


